Math 105 / Exam 2 (November 14, 2017) DO NOT WRITE YOUR NAME ON THIS PAGE page 6

5. [6 points] Consider the following graph of a function A(z). Assume the behavior of A(z)
depicted on the left and right of the graph continues as z approaches —oo and oo, respectively.

Y

a. [3 points] Write down equations for all vertical and horizontal asymptotes of A(z).

The vertical asymptote(s) of A(z) are

The horizontal asymptote(s) of A(z) are

b. [3 points] Calculate the following limits.

(i) lim A(z) =

z——37F

(iii) lim A(—z2) =

z—3+t

(iv) Zli)r_noo 3A(z/2) =
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